SAF-T-LINER C2
Parts Reference Manual
( Interior)







INTRODUCTION

The Thomas Built Buses SAF-T-LINER C2 parts reference manual
provides the user with a tool to assist in identifying needed replacement
parts and service information for their bus. It is intended to be used as a
guide to help locate service parts information that resides within the unit
specific service bill of material found on the TBB Dealer Support Portal.
Note: If you do not have access to the Thomas Built Buses ESP website,
contact your local dealer.

General Instructions

The format of the C2 parts reference manual ( interior views ) consists of
various high level views and references to particular sales/data codes that
identify certain components and provide direction to additional associated
components. A text page is provided for each code which lists the
sales/data code, component references and also the major group where the
associated service part numbers can be found in the on-line service bill of
material. Sales and data codes are arranged alphabetically within the major
groups in the service bill of material.

A table of contents is provided for the reference manual which is listed in
sales code sequence.






C2 PARTS REFERENCE MANUAL

BUILT BUSES,E

Table of Contents

Interior
D1015 Label - Entrance Door, AG2, Air, Emergency Exit Instruction .................. 2
D1054 Fan - Defroster, Circular Mount, Windshield Header ......................... 4
D1064 Visor & D1065 Visor - Driver's, 6 X 30" .. ...ttt eeeeeeeeeennns 6
D1136 A/C - Evaporator Trim, Rear . .......ooiiiiiiiiiiiiiiiiiiiiiiiiieeneenenns 8
D1230 Storage Box - Overhead ........ ..o iiiiiiiiiiiiiiiiiiieiieieeinnenennenns 10
D1256 Panel - Accessory Mounting, Safety Equipment ......................0c0u.e. 12
D3006 Accessory Compartment Door with Glass ............... ..., 14
D3008 Latch - Storage Compartment Door, Over Windshield ....................... 16
D3014 Trim - Rear Door . .......c.iiutiiiiiiietinneeneesoeasesnsesnssosnssnnsas 18
D3024 Power System - Entrance Door, AiLb AG2 ... . oo iiiiiiiiiiiniineeeennsonnnas 20
D3029 Latch - Single Point, Rear Emergency Door ..............ciiiiiiiiiinnnn. 22
D3030 Stop - Rear Emergency Door ..........coitiiiiiiiiiiiiiiiiiiineenrennnnnns 24
D3039 Vandalock - Aluminum Entrance Door Cylinder with Key .................... 26
D3067 Stop - Side Door, Telescoping . .......ccoiitiiiiiiiiiiirnreneeneenrsnssnses 28
D3090 Lock - Door, Interior Storage, Over Driver's Header ................. .. ..., 30
D3092 Seal - Rear Emergency Door .........ciiiiiiiiiiiiiiirieieneeinncnennnnns 32
D310S Threshold - Rear Emergency Door .........cooiiiiiiiiiiiiiiiiinienennenss 34
D3109 Valve - Air Door Solenoid .........cciuiitiiiiiiiiiiiiiiiiiineeneeneennns 36
D3119 Trim - Entrance Door, Interior ...........ccciiiieetiiinneeeeenenoaoeeeanns 38
D6001 Panels-Rear End .........ciiiiitiiiiiiiiiiiiiiiinrennreseossnnscnnnas 40
D6002 Panels - Rear End, Side .......... ..t neeeecncnnnnnns 42
D6003 Bulkhead - Rear Bulkhead-Rear End Interior ................c0iiiiiiinnnn. 44
D6004 Panels - Access Rear Bulkhead ........... ... ittt iiiiiiinnrennnes 46
D6006 Cover - Access, Rear End Harness ..........c.ccttiiiieeeeeeeececocaannnas 48
D6007 Cover - Access, Front End Harness ............otiiiiineeriennnneeeeennns 50
D6008 Cover - Trim, Driver's Header ..........c.cciiiiiitieinneeeeeeenoooeeeenns 52
D6009 Cover - Trim, Front End, Windshield Header .................cciiiina... 54
D6010 Cover - Trim, Front Entrance, Door Header ................cciiiiiiinnnn.. 56
D6016 Cover - Wheelhouse and Heater Hose ...........cciiiiiiiiiiinrnnnrennnes 58

06/08 Page i



C2 PARTS REFERENCE MANUAL

BUILT BUSES,E

Table of Contents

D6018 Cover - Fuel Sender Inspection ..........couiuiiiiiiiiiiiiiieiieienrnenennenns 60
D6019 Molding - Shoe . .....coiuiiiiiiiiiiiiiiiiiiiiiieteeensenssnscnssnssnnes 62
D6022 Mirror - Interior, 6 X 30" ... ...ttt iiiiinneeeeeennoaeeeeennaasaeanns 64
D6026 Pad - Door Header, Front Entrance ...............cctteeeeeeeececccanaanas 66
D6029 Pad - Door Header, Side Emergency Door ............ciiiiiiiiiiiiinrennnns 68
D6030 Pad - Door Header, Rear Emergency Door ............cciiiiiiiiiiinnrennnns 70
D6047 Heater - HOSe / COVEIS .« ot vtititiiiniineeneeneeeeensenscnsenscnscnnes 72
D6048 Heater - Entrance Door, Stepwell .......... ... ittt 74
D6049 Hose - Stepwell Heater ..........oiiiiiiiiiiiiiiiiienernesneenesnssnnns 76
D6051 Door - Access, Rear Bulkhead ........... ... ... .. i iiiiiiinnnnnnnnnn 78
D6082 Cabinet - Switch, Lower . ...... ... it eeeacacaaaaaaannns 80
D6083 Cabinet - Switch, Upper ......ciiitiiiiiiiiiiiiiiiieriennressossensonnsas 82
D6084 Cabinet-Top Plate ........cocitiuiiiiiiiiiiiiiiiiiirnenenecasnenennenns 84
D6085 Tread - Step, Front Entrance Door ............oiiiiitiiiiiiiiiiineenennnns 86
D6086 Trim - Stepwell .. ...t iiniiiiiiiiiiiiiiiiittittereersnssnssnssnsns 88
D6091 Panel - Accessory Mounting, Safety Equipment .....................c0vu.n. 920
D6103 Rail - Assist, Front Entrance Door, Left Side ......................ciia... 92
D6110 Rail - Assist, Front Entrance Door, Right Side ................ ... v i, 94
D6118 Cover - Stepwell Rise, Right Side Entrance Door ...................ccvvtn. 926
D6126 Prop Rod - Accessory Door, Over Windshield ................... ..ot 98
D6138 Floor Mat - Driver's Area .........ccouiieiieinennesnesnesnssnssnscnsonss 100
D6139 Cover - Heater Hose, Side Emergency Door ...............cciiiiiiiiinn.. 102
D6140 Dash - End Caps / Ductwork / Trim (Start Date 2/11/05) ..........ccvvvuvnn.. 104
D6140 Dash - End Caps / Ductwork / Trim (End Date 2/11/05) .........ccovivivennn. 106

Page ii 06/08



C2 PARTS REFERENCE MANUAL
Themas

BUILT BUSES,L.

Interior

06/08 Page 1



C2 PARTS REFERENCE MANUAL

Interior
D1015XXXXX - Label - Entrance Door,
AG2, Air Emergency Exit Instruction

SEE DETAIL A

U
by
i !

_.____‘\®

DETAIL A

EMERGENCY
EXIT
ACTIVATE

SEE ——, RELEASE

DETAIL B 1
iR

1)

o

DETAIL B

@)—— 1] wr

SEE —
DETAIL C

DETAIL C

FRONT OF BUS
-

Page 2 06/08



C2 PARTS REFERENCE MANUAL
Themas

Interior
D1015XXXXX - Label - Entrance Door,
AG2, Air Emergency Exit Instruction

BUILT BUSES,,'.

Sales / Data Item Ref.
Code Number Description Major Group
D1015XXXXX 1 Label - Emergency Override, Air Operated Door, English | Accessories
2 Label - Emergency Override, Air Operated Door, French
3 Label - Emergency Exit Push Here, AG2 Ent. Door,
English
4 Label - Emergency Exit Push Here, AG2 Ent. Door,
French

06/08 Page 3



C2 PARTS REFERENCE MANUAL
Themas

Interior
D1054XXXXX - Fan- Defroster,
Circular Mount, W/S Header

BUILT BUSES,L.

o
/ //
/’ f

N/ y
. \U /’,

N ]

_

/L MOUNTING TRACK

TN
N/

Page 4 06/08



C2 PARTS REFERENCE MANUAL
-- 331&8 Interior
D1054XXXXX - Fan - Defroster,

Circular Mount, W/S Header

BUILT BUSES,,'.

Sales / Data Item Ref.
Code Number Description Major Group
D1054XXXXX 1 T-Bolt - Accessory Track Accessories

2 Defroster Fan Assembly

3 Washer - Nylon

4 Washer - Flat, 5/16

5 Locknut - Elastic, 5/16 - 18

6 Bushing - Snap

Not Shown:

Fuse - Mini, Blade Style, 5 Amp
Relay - Micro, SPST 20A

06/08 Page 5



C2 PARTS REFERENCE MANUAL
DMas

Interior
D1064XXXXX & D1065XXXXX
Visor - Driver's

BUILT BUSES,L.

ACCESSORY TRACK

Page 6 06/08



C2 PARTS REFERENCE MANUAL
Themas

Interior
D1064XXXXX & D1065XXXXX
Visor - Driver's

BUILT BUSES,,'.

Sales / Data Item Ref.
Code Number Description Major Group

D1064/ D1065 1 Visor - Asm.- 6 x 30 Accessories
(Includes items 2 - 9)

Foot - Sun Visor

Arm - Sun Visor

Lockwasher - Split, 1/4" ID x 1/2" OD

Flange Nut - 1/4 - 20

Visor - W/ Pivot Blocks

Bolt - 1/4 - 20 x .75

Bolt - 1/4 - 20 x 2.00

Washer - Nylon, 5/16 ID x 3/4 OD x 1/16 THK.

©O© 00 N O O b W

06/08 Page 7



-
<
=
z
<
=
=
O
z
=
-
=
e
=
=
Z
2
=
Lo\
O

Interior

D1136XXXXX - A/C
Evaporator Trim, Rear

06/08

Page 8



Themas

BUILT BUSES,,'.

C2 PARTS REFERENCE MANUAL

Interior
D1136XXXXX - A/C
Evaporator Trim, Rear

Sales / Data Iltem Ref.
Code Number Description Major Group
D1136XXXXX 1 Cover - A/C Hose Accessories
2 Tapping Screw
3 Trim - Rear A/C, Floor Interface
06/08 Page 9



C2 PARTS REFERENCE MANUAL
Themas

Interior
D1230XXXXX - Storage Box
Overhead

Page 10 06/08



Themas

C2 PARTS REFERENCE MANUAL

Interior
D1230XXXXX - Storage Box
Overhead

Sales / Data Item Ref.
Code Number Description Major Group
D1230XXXXX 1 Hinge - Overhead Storage Door Doors

2 Door - Storage Box

3 Screw - Pan Head

4 Washer - Flat

5 Locknut - Nylon
06/08 Page 11




C2 PARTS REFERENCE MANUAL

Interior
D1256XXXXX Panel - ACC Mtg.,

®

42]
AL
B %
= =)

m

&
=]
=)

m

Safety Equipment

06/08

Page 12



C2 PARTS REFERENCE MANUAL
Themas

Interior
D1256XXXXX Panel - ACC Mtg.,
Safety Equipment

BUILT BUSES,,'.

Sales / Data Item Ref.
Code Number Description Major Group
D 1256 XXXXX 1 Accessory Panel - Front, Overhead Accessories
2 Screw - Truss Head
3 Brace - Accessory Panel
4 Screw - 1/4-20 x 5/8
5 Nut - Toothed, Conical

06/08 Page 13



C2 PARTS REFERENCE MANUAL

Interior
D3006XXXXX - Accessory Compt.

Mm.mW
&

Bl B SIERS ) .

Door with Glass

06/08

Page 14



Themas

BUILT BUSES,,'.

C2 PARTS REFERENCE MANUAL

Interior
D3006XXXXX - Accessory Compt.
Door with Glass

Sales / Data Item Ref.
Code Number Description Major Group
D3006XXXXX 1 Door - Front Accessory Compt. Doors
2 Screw - Tapping, #10
06/08 Page 15



C2 PARTS REFERENCE MANUAL
Themas

Interior
D3008XXXXX - Latch - Storage Compt.
Door, Over W/S

BUILT BUSES,,'.

Page 16 06/08



C2 PARTS REFERENCE MANUAL
Themas

Interior
D3008XXXXX - Latch - Storage Compt.
Door, Over W/S

BUILT BUSES,,'.

Sales / Data Item Ref.
Code Number Description Major Group
D3008XXXXX 1 Latch - Accessory Compartment Door Doors

06/08 Page 17



C2 PARTS REFERENCE MANUAL

Interior
D3014XXXXX - Trim - Rear Door

Mm.mW
&

Bl B SIERS ) .

06/08

Page 18



Themas

BUILT BUSES,,'.

C2 PARTS REFERENCE MANUAL

Interior
D3014XXXXX - Trim - Rear Door

Sales / Data Item Ref.
Code Number Description Major Group
D3014XXXXX 1 Trim - Rear Emergency Door Doors
2 Screw - Tapping, Pan Head
Ref Adhesive / Sealant - Black
06/08 Page 19



C2 PARTS REFERENCE MANUAL
Ihomas

Interior
D3024XXXXX - Power System
Entrance Door, Air, AG2

BUILT BUSES,L.

DETAIL A

__ FRONT OF BUS g |

DETAIL B

DETAIL B
BOTH ENDS

Page 20 06/08



C2 PARTS REFERENCE MANUAL
Themas

Interior
D3024XXXXX - Power System
Entrance Door, Air, AG2

BUILT BUSES,,'.

Sales / Data Item Ref.
Code Number Description Major Group
D3024XXXXX 1 Air Mechanism Sub Assembly Doors
2 Screw - 1/4" x 3/4"
3 Bolt - Hex Head
4 Washer - Flat, 5/16"
5 Locknut
6 Clevis Rod End, Secondary Linkage
7 Washer - Flat, Nylon
8 Push Clip
9 Rocker Valve, Penumatic
Ref Tubing - Nylon, 1/4" OD, Black
Ref Tubing - Nylon, 1/4" OD, Silver

06/08 Page 21



BUILT BUSES,L.

D3029XXXXX - Latch - Single Point,

C2 PARTS REFERENCE MANUAL

Interior

Rear Emergency Door

o \,.;,,:.7\ . N

|

U. SEE DETAL B
o B

. \i .

DETAIL B

Page 22

06/08




C2 PARTS REFERENCE MANUAL
Themas

Interior
D3029XXXXX - Latch - Single Point,
Rear Emergency Door

BUILT BUSES,,'.

Sales / Data Item Ref.
Code Number Description Major Group
D3029XXXXX 1 Guard - Rear Interior Emergency Door Doors

2 Tapping Screw - #12 x .63L Pan Head

06/08 Page 23



C2 PARTS REFERENCE MANUAL
Themas

Interior
D3030XXXXX - Stop - Rear,
Emergency Door

BUILT BUSES,,'.

SEE DETAIL A

DETAIL A

Page 24 06/08



C2 PARTS REFERENCE MANUAL
Themas

Interior
D3030XXXXX - Stop - Rear,
Emergency Door

BUILT BUSES,,'.

Sales / Data Item Ref.
Code Number Description Major Group

D3030XXXXX Mount - Side Door Doors
Bolt - Hex Head, 1/4 x 20 x 3/4
Insert - Threaded

Prop - Telescopic

Bolt - Hex Head, 1/4 - 20 x 3/4
Washer - Nylon

Locknut - Hex, 14 - 20

N O b WON -

06/08 Page 25



C2 PARTS REFERENCE MANUAL
Themas

Interior
D3039XXXXX - Vandalock - Aluminum
Entrance Door Cylinder with Key

BUILT BUSES,L.

SEE DETAIL A\

DETAIL A

Page 26 06/08



C2 PARTS REFERENCE MANUAL
Themas

Interior
D3039XXXXX - Vandalock - Aluminum
Entrance Door Cylinder with Key

BUILT BUSES,,'.

Sales / Data Item Ref.
Code Number Description Major Group
D3039XXXXX 1 Receptacle - Lock Rod, Vandalock Doors

2 Screw - Tapping, #10

06/08 Page 27



C2 PARTS REFERENCE MANUAL
Themas

Interior
D3066XXXXX & D3067XXXXX

Stop - Side Door, Telescoping

SIDE EMERGENCY
DOOR

T L\ EXISTING Yo b
. ES] PropROD|: ™ E
T BRACKET ‘ Lo X
o L |
A L. °
b @/ﬂ . U
i i [ h oy
UJ’\ : L ‘1 0' i
i 5
V i Al
i I
H I g
A g
: : A Ll
DOOR TUBE ]“ } :904//\ Lilg
i i %,
]'\ ! Us
e
LU\"\ \a
N
Page 28

06/08



C2 PARTS REFERENCE MANUAL
Themas

Interior
D3066XXXXX & D3067XXXXX
Stop - Side Door, Telescoping

BUILT BUSES,,'.

Sales / Data Item Ref.
Code Number Description Major Group

D3066 & D3067 Prop - Telescopic Doors
Mount - Side Door

Bolt - 1/4 - 20 x 3/4", SAE Grade 5
Locknut - Hex, 1/4 - 20

Insert - Threaded

Bolt - Hex Head, 1/4 - 20 x 3/4

Washer - Nylon

N O g WON -

06/08 Page 29



C2 PARTS REFERENCE MANUAL
Themas

Interior
D3090XXXXX - Lock - Door, Interior
Storage, Over Driver's Header

BUILT BUSES,L.

N \__SEE DETAIL A
DETAIL A
(INTERLOCK OPTION )

Page 30 06/08



Themas

BUILT BUSES,,'.

C2 PARTS REFERENCE MANUAL

Interior
D3090XXXXX - Lock - Door, Interior
Storage, Over Driver's Header

Sales / Data Item Ref.
Code Number Description Major Group
D3090XXXXX 1 Latch Doors
2 Micro Switch
3 Mounting Block - Switch
4 Clip - Mounting, Self-Closing
5 Screw - Tapping, #4 x 5/8"
06/08 Page 31



C2 PARTS REFERENCE MANUAL
Themas

Interior
D3092XXXXX - Seal - Rear
Emergency Door

BUILT BUSES,,'.

TRIM EDGE

ALIGN BOTTOM EDGE
OF SEAL WITH EDGE
OF DOOR TRIM

SEE DETAIL A

DETAIL A

Page 32 06/08



Themas

BUILT BUSES,,'.

C2 PARTS REFERENCE MANUAL

Interior
D3092XXXXX - Seal - Rear
Emergency Door

Sales / Data Item Ref.
Code Number Description Major Group
D3092XXXXX 1 Seal - Rear Emergency Door Doors

06/08 Page 33



Interior
D3105XXXXX - Threshold - Rear

Emergency Door
[

C2 PARTS REFERENCE MANUAL

R e A e N
- # |\ s - ‘

NS

m

Bl B SIERS ) .

06/08

Page 34




Themas

BUILT BUSES,,'.

C2 PARTS REFERENCE MANUAL

Interior
D3105XXXXX - Threshold - Rear
Emergency Door

Sales / Data Item Ref.
Code Number Description Major Group
D3105XXXXX 1 Threshold - Rear Emergency Door Doors
2 Screw - Truss Head
06/08 Page 35



C2 PARTS REFERENCE MANUAL

Interior
D3109XXXXX - Valve - Air
Door Solenoid

BUILT BUSES,L.

SEE DETAIL A

Page 36 06/08



C2 PARTS REFERENCE MANUAL
Themas

Interior
BUILT BUSES,,,. .
D3109XXXXX - Valve - Air

Door Solenoid

Sales / Data Item Ref.
Code Number Description Major Group
D3109XXXXX 1 Air Valve - Solenoid Doors

2 Muffler - Solenoid

3 Connector - Male, Quick Connect Air Fitting

4 Connector - Female, Quick Connect Air Fitting

5 Bolt - Hex Flange, 3/8 - 16

6 Flange Nut - 3/8 - 16

06/08 Page 37



BUILT BUSES,L.

C2 PARTS REFERENCE MANUAL

Interior
D3119XXXXX - Trim - Entrance

Door Interior

ﬁf

il

i
o
il
il
r' ‘IHi

|H.
i t|

J ‘||I|‘

IH
{f fI':
HHW
011
I
!Illﬂ
! i

ol

RN

HIHW

i\
,'l
i\

l l

\‘JF
.

Jl‘f

FRONT OF BUS

Page 38




Themas

BUILT BUSES,,'.

C2 PARTS REFERENCE MANUAL

Interior
D3119XXXXX - Trim - Entrance
Door Interior

Sales / Data Item Ref.
Code Number Description Major Group
D3119XXXXX 1 Door Trim Doors
2 Screw - Tapping, #10
3 End Cap - Seat Rail
06/08 Page 39



m C2 PARTS REFERENCE MANUAL

Interior

D6001XXXXX - Panels - Rear End

Page 40 06/08



Themas

BUILT BUSES,,'.

C2 PARTS REFERENCE MANUAL

Interior
D6001XXXXX - Panels - Rear End

Sales / Data ltem Ref.
Code Number Description Major Group
D600 1XXXXX 1 License Sheet - LS
2 License Sheet - RS
3 Activator - Adhesive
4 Adhesive
5 Rubber - Window Edging, Rear Window
06/08 Page 41



C2 PARTS REFERENCE MANUAL
Ihomas

Interior
DB6002XXXXX - Panels - Rear End,
Side

INTERIOR
PASSENGER SIDE

INTERIOR
DRIVERS SIDE

Page 42 06/08



Themas

C2 PARTS REFERENCE MANUAL

SEuiireuscss. Interior
' D6002XXXXX - Panels - Rear End,
Side
Sales / Data Item Ref.
Code Number Description Major Group
DB002XXXXX 1 Panel - Rear End, LS Interior

2 Panel - Rear End, RS
3 Screw - Tapping
4 Window Edging - Rubber, Rear
5 Window Edging - Rubber. Rear
6 Filler Panel - Rear, LS
7 Filler Panel - Rear, RS

06/08 Page 43



C2 PARTS REFERENCE MANUAL
DMas

Interior

D6003XXXXX - Bulkhead - Rear End Interior

FRONT OF BUS

Page 44 06/08



C2 PARTS REFERENCE MANUAL

Interior
D6003XXXXX - Bulkhead - Rear End Interior

Themas

BUILT BUSES,,'.

Sales / Data Item Ref.
Code Number Description Major Group
D6003XXXXX 1 Rear Bulkhead - Inteiror Interior

2 Adhesive

3 Adhesive - Activator

4 Screw - Tapping

06/08 Page 45



C2 PARTS REFERENCE MANUAL

Interior
D6004XXXXX - Panels - Access
Rear Bulkhead

DETAIL A

Page 46 06/08



Themas

BUILT BUSES,,'.

C2 PARTS REFERENCE MANUAL

Interior
D6004XXXXX - Panels - Access
Rear Bulkhead

Sales / Data Item Ref.
Code Number Description Major Group
D6004XXXXX 1 Cover - Service, Warning Light Interior
2 Screw - Tapping
06/08 Page 47



C2 PARTS REFERENCE MANUAL
Themas

Seoiir busesy, Interior
D6006XXXXX - Cover - Access,

Rear End Harness

__w‘;‘:,mmﬂ"l%[ DETAL A

Page 48 06/08



Themas

BUILT BUSES,,'.

C2 PARTS REFERENCE MANUAL

Interior
DB6006XXXXX - Cover - Access,
Rear End Harness

Sales / Data ltem Ref.
Code Number Description Major Group
DB006XXXXX 1 Trim - Harness Access Cover, Rear, LS Interior
2 Trim - Harness Access Cover, Rear, RS
3 Screw - Tapping
06/08 Page 49



Themas

BUILT BUSES,L.

C2 PARTS REFERENCE MANUAL

Interior
D6007XXXXX - Cover - Access,
Front End Harness

S
[ ﬂ":’%@ R

i
I

Page 50

06/08




C2 PARTS REFERENCE MANUAL
Themas

Interior
D6007XXXXX - Cover - Access,
Front End Harness

BUILT BUSES,,'.

Sales / Data Item Ref.
Code Number Description Major Group
D6007XXXXX 1 Cover - Harness, 1st Rafter Interior

2 Screw - Tapping

06/08 Page 51



C2 PARTS REFERENCE MANUAL
Ihomas

Interior
DB6008XXXXX - Cover - Trim,
Driver's Header

BUILT BUSES,L.

v p
EXPLODED VIEW OF FASTNERS TO
FRONT HEADER

DETAIL A

Page 52 06/08



C2 PARTS REFERENCE MANUAL
Themas

Interior
D6008XXXXX - Cover - Trim,
Driver's Header

BUILT BUSES,,'.

Sales / Data Item Ref.
Code Number Description Major Group

DB008XXXXX Storage Box Asm. - Overhead Interior
Fastener - 1/4" Nylon

Screw - Tapping, #10

Nut - Toothed Conical

Cover - Wire Harness, Overhead
Washer - Flat

Washer - 1 1/4" OD x .219 ID
Screw - Tapping, #10 x .75

Nut - Speed, Flat Rectangular

© 00 N O Ok WN -

06/08 Page 53



C2 PARTS REFERENCE MANUAL
DMas

Interior
DB6009XXXXX - Cover - Trim,
Front End, Windshield Header

BUILT BUSES,L.

Page 54 06/08



C2 PARTS REFERENCE MANUAL
Themas

Interior
D6009XXXXX - Cover - Trim,
Front End, Windshield Header

BUILT BUSES,,'.

Sales / Data Item Ref.
Code Number Description Major Group

DB009XXXXX Accessory Track Interior
Trim - Front Header

Screw - Thread Forming

Mounting Bracket - Front Accessory Compt. Door
Hinge - Accessory Door, RS

Hinge - Accessory Door, LS

Screw - Machine, 10 - 32

Screw - Tapping, #10

Striker Plate - Latch, Front Storage Compt.

© 00 N O Ok WN -

06/08 Page 55



C2 PARTS REFERENCE MANUAL
Ihomas

Interior
D6010XXXXX - Cover - Trim,
Front Entrance, Door Header

BUILT BUSES,L.

Page 56 06/08



Themas

BUILT BUSES,,'.

C2 PARTS REFERENCE MANUAL

Interior
D6010XXXXX - Cover - Trim,
Front Entrance, Door Header

Sales / Data Item Ref.
Code Number Description Major Group
D6010XXXXX 1 Cover Asm. - Mechanism, Elec. Ent. Door Interior
2 Screw - Tapping, #10
3 Rivet - 1/4", Re-usable
06/08 Page 57



— C2 PARTS REFERENCE MANUAL
'!E Interi
Eeoremevas Y. DBOTEXXXXX - Cover - Wheelhouse

& Heater Hose

EXISTING FLOOR COVERING 2y o
e - %
o - el o~ S
/ Ji ™~ e . //f :
7 e . \\/ :
Vi —eLi
: .

Va
e T T T S
TrEm I NS

06/08

Page 58



C2 PARTS REFERENCE MANUAL
Themas

Interior
D6016XXXXX - Cover - Wheelhouse

& Heater Hose

Sales / Data ltem Ref.
Code Number Description Major Group
D6016XXXXX 1 Cover - Wheelhouse Interior
2 Cover - Wheelhouse & Hose
3 Screw - Tapping, #10
06/08

Page 59



C2 PARTS REFERENCE MANUAL

% !! Interior
Bl B SIS »

D6018XXXXX - Cover - Fuel
Sender Inspection

<)
<)
<)
)

Page 60 06/08



C2 PARTS REFERENCE MANUAL
Themas

Interior
D6018XXXXX - Cover - Fuel
Sender Inspection

BUILT BUSES,,'.

Sales / Data Item Ref.
Code Number Description Major Group
D6018XXXXX 1 Cover - Access, BTR Fuel Tank Interior

2 Cover - Access, BTR Fuel Tank, Floot

3 Screw - Tapping, #10 Truss Head, .50L

4 Fastener - Uni-Tap, Nylon, Black, 1/4" x 1 3/8"

5 Screw - Tapping, #10 Truss Head, 1.00L

6 Foam Tape - Black

06/08 Page 61



Interior
D6019XXXXX - Molding - Shoe

C2 PARTS REFERENCE MANUAL

1]
=)
m
=
&
=)
m

‘aH SSNYL SZ'1L X

91-01# -M3HOS ONIddVL
L PN

ONIM3A0D HOO4

A

[ =}

3AIM -ONIGTOW 3O0HS

133HS 30IS YORIILNI

-

NYL3A ISNOHTIIHM

ONIHMIAOD ISNOHTIIHM —— .

Ele]ln

VL340 LSOd ¥3NY0D

P
S
s

&

v
ONITTOW JOHS -~

WIML 1SOd ¥3N¥OD—

ONINIT HOIFLNI - /

ONINIT HOIY3LNI

71¥130d ONIN3dO H00Qd TvOIdAL

¥OOQ ¥O4 ATOHSIHHL \

T~ 3AIM -ONITTOW JOHS

~~ H3INYOO

HV3Y -ONIQTOW JOHS Vv vi3a33s —y

N

S 'ONITTON

AIM -ONITTOW FOHS —,

v13a ¥3A00 14 13N4

3dIM “ONIQTOW JOHS

d3A03 F8NL 13Nd—-

ONINIT YOI¥ILNI —

JOHS -dvO ON3 ~

$S7 'ONIATOW
JOHS -dvO aN3

ONIN3dO ¥O0d

" AONZOY3INIT TVOIdAL

v viaa

06/08

Page 62



C2 PARTS REFERENCE MANUAL
Themas

Interior
D6019XXXXX - Molding - Shoe

BUILT BUSES,,'.

Sales / Data Item Ref.
Code Number Description Major Group
DB019XXXXX 1 Shoe Molding - Wide Interior

2 End Cap - Shoe Molding, RS

3 End Cap - Shoe Molding, LS

4 Shoe Molding - Rear Corner

06/08 Page 63



C2 PARTS REFERENCE MANUAL
Thema

Interior
! BliE B UES ,E . .
D6022XXXXX - Mirror - Interior,
6" X 30"

Page 64 06/08



Themas

C2 PARTS REFERENCE MANUAL

Interior
D6022XXXXX - Mirror - Interior,
6" x 30"
Sales / Data Item Ref.
Code Number Description Major Group
DB022XXXXX 1 Nut - Accessory Track Interior
2 Mirror Asm. - Interior
3 Screw - Pan Head
06/08 Page 65



BUILT BUSES,L.

C2 PARTS REFERENCE MANUAL

Interior
D6026XXXXX - Pad - Door Header,

Front Entrance

o

Page 66

06/08




Themas

BUILT BUSES,,'.

C2 PARTS REFERENCE MANUAL

Interior
D6026XXXXX - Pad - Door Header,
Front Entrance

Sales / Data ltem Ref.
Code Number Description Major Group
DB6026XXXXX 1 Pad Asm. - Front Entrance Door Interior
2 Screw - RD, HD.
06/08 Page 67



C2 PARTS REFERENCE MANUAL
Ihomas

Interior
DB6029XXXXX - Pad - Door Header,
Side Emergency

BUILT BUSES,L.

Page 68 06/08



Themas

BUILT BUSES,,'.

C2 PARTS REFERENCE MANUAL

Interior
DB6029XXXXX - Pad - Door Header,
Side Emergency

Sales / Data Item Ref.
Code Number Description Major Group
DB029XXXXX 1 Bracket - Prop Rod, Side Emerg. Door Interior

2 Pad Asm. - Header, Side Door
3 Screw - Tapping, #10
4 Bracket - Lift Switch, LS
5 Switch - Door, Momentary

06/08 Page 69



C2 PARTS REFERENCE MANUAL

Interior
DB6030XXXXX - Pad - Door Header,
Rear Emergency

»w@*;*% s

i ] : |H|Hu Hil \\ P =
! sl gll l L \ Ill
i M) VERTICAL ‘1'\'-’
DOOR F RAME .

i H M “ﬂ

e R
N, — -

. r— .

s -

—

Page 70 06/08



Themas

BUILT BUSES,,'.

C2 PARTS REFERENCE MANUAL

Interior
DB6030XXXXX - Pad - Door Header,
Rear Emergency

Sales / Data Item Ref.
Code Number Description Major Group
DB030XXXXX 1 Cover - Prop, Rear Emerg. Door Interior
2 Pad - Door Header
3 Screw - Truss HD.
4 Screw - Tapping, #10
06/08 Page 71



Interior
D6047XXXXX - Heater - Hose

Cover

C2 PARTS REFERENCE MANUAL

. FRONT OF BUS

SR LA LA RSP LD ELRUH e bt L e L o

J

g

I

e - L 1l

I\H BRI
»m I

| ]
T

VIEW SHOWN WITH STEPWELL

HEATER FOR REFERENC

E

SHOWING UNDERSIDE OF BUS

Page 72

06/08



C2 PARTS REFERENCE MANUAL
Themas

Interior
D6047XXXXX - Heater - Hose Cover

BUILT BUSES,,'.

Sales / Data Item Ref.
Code Number Description Major Group
D6047XXXXX 1 Screw - Tapping, 14 x 1 1/2 Interior

2 Screw - Machine, 1/4 - 20 x 1 1/8

3 Clamp - Cushion Support

4 Nut - Toothed Conical

5 Tubing - Convoluted

06/08 Page 73



C2 PARTS REFERENCE MANUAL

Interior
D6048XXXXX - Heater - Entrance Door
Stepwell

Page 74 06/08



Themas

C2 PARTS REFERENCE MANUAL

e B Interior
D6048XXXXX - Heater - Entrance Door
Stepwell
Sales / Data Item Ref.
Code Number Description Major Group
DB048XXXXX 1 Heater Asm. - Stepwell Interior
2 Bolt - 5/16 - 18 x 1"
3 Seal - Self-Adhesive
4 Adhesive
06/08 Page 75



C2 PARTS REFERENCE MANUAL
Themas

Interior
D6049XXXXX - Hose - Stepwell Heater

BUILT BUSES,L.

3
/ SEE DETAIL A
>\ STEPWELL HEATER
TN
. //v'

RESTRICTOR
N TRAPPED
I IN SUPPLY LINE

DETAIL A

Page 76 06/08



C2 PARTS REFERENCE MANUAL
Themas

Interior
D6049XXXXX - Hose - Stepwell Heater

BUILT BUSES,,'.

Sales / Data ltem Ref.
Code Number Description Major Group
DB6049XXXXX 1 Hose Tee - 1" Interior

2 Flow Restrictor - 5/16 X 1"

3 Heater Hose

06/08 Page 77



C2 PARTS REFERENCE MANUAL
Ihomas

Interior
D6051XXXXX - Door - Access,
Rear Bulkhead

BUILT BUSES,L.

[
i

l i

DETAIL A

Page 78 06/08



Themas

BUILT BUSES,,'.

C2 PARTS REFERENCE MANUAL

Interior
DB6051XXXXX - Door - Access,
Rear Bulkhead

Sales / Data Item Ref.
Code Number Description Major Group
D605 1XXXXX 1 Door Asm. - Bulkhead, Rear Interior Interior
2 Screw - Tapping, #10
3 Grommet Edging - Adhesive Lined
4 Lock - Thumb, 1/4 Turn
06/08 Page 79



C2 PARTS REFERENCE MANUAL

Interior
Lower

D6082XXXXX - Cabinet - Switch,

®

Mmuu
&

Btk ElSE= R U SIEES

NOILVTIVLSNI
13X0vdd ONILNNOW

NOILVTIVLSNI 1IMOVHd ONILNNOW 3TNAON

e D —— Y

et T L g e T o ; ;

06/08

Page 80



C2 PARTS REFERENCE MANUAL
Themas

€BoUiLr susesHh, Interior
D6082XXXXX - Cabinet - Switch,

Lower

Sales / Data Item Ref.
Code Number Description Major Group
DB082XXXXX 1 Mounting Panel Asm. - Module Interior

Tray - Module, Switch Cabinet

Cover Asm. - Switch Cabinet, Lower
Screw - Tapping #10 x 1/2", Truss Head

Screw - Tapping #10 x 5/8", Truss Head
Screw - Tapping #10 x 1 1/4", Truss Head
Mounting Bracket - Switch Cabinet

N o o B~ WwDN

06/08 Page 81



Themas

C2 PARTS REFERENCE MANUAL

Interior
BUILT BUSES,L. . .
D6083XXXXX - Cabinet - Switch,
Upper

CLIPS ON UNDERSIDE —

OF UPPER CABINET

SNAP INTO CORRE-
SPONDING SLOTS IN
LOWER CABINET. BE
SURE INLET FOR DEFROST
DUCT ALIGNS PROPERLY
WITH OUTLET IN DASH.

|
RECOMMENDED TORQUE 8 IN-LBS
ﬁ MIN. DO NOT EXCEED 12 IN-LBS
. OF TORQUE WHEN INSTALLING
I SCREWS.

DRIVER'S DUCT INSTALLATION

Page 82

06/08



C2 PARTS REFERENCE MANUAL
Themas

Interior
DB6083XXXXX - Cabinet - Switch,
Upper

BUILT BUSES,,'.

Sales / Data Item Ref.
Code Number Description Major Group

DB083XXXXX Cover Asm. - Switch Cabinet, Upper Interior
Duct - Defroster, Driver's Window
Screw - #6 x .50 Pan HD.
Storage Bin - Switch Cabinet

Lid - Storage Bin, Switch Cabinet

a b WN -

06/08 Page 83



C2 PARTS REFERENCE MANUAL
Themas

Interior
D6084XXXXX - Cabinet - Top Plate

BUILT BUSES,L.

SWITCH PLATE ASSEMBLY

UPPER SWITCH
CABINET

“f*«t"\
- )
e o
Ej‘i Z= _ “
T < - /
\)\l z‘r T i/
M Ja//
I
i
i
i
I -

Page 84 06/08



Themas

BUILT BUSES,,'.

C2 PARTS REFERENCE MANUAL

Interior
D6084XXXXX - Cabinet - Top Plate

Sales / Data Item Ref.
Code Number Description Major Group
D6084XXXXX 1 Switch Plate - Front Interior
2 Cap - Switch Cabinet, Black Nylon
3 Plug - Cut-Out, Light Monitor
4 Nut - J-Type, #10
5 Screw - Tapping, #10
06/08 Page 85



C2 PARTS REFERENCE MANUAL

Interior
D6085XXXXX - Tread - Step, Front
Entrance Door

Page 86 06/08



C2 PARTS REFERENCE MANUAL
Themas

Interior
D6085XXXXX - Tread - Step, Front
Entrance Door

BUILT BUSES,,'.

Sales / Data Item Ref.
Code Number Description Major Group
DB085XXXXX 1 Step Tread - 1st Step Interior

2 Step Tread - 2nd Step

3 Step Tread - 3rd Step

4 Step Tread Rubber

06/08 Page 87



C2 PARTS REFERENCE MANUAL

Interior
DB6086XXXXX - Trim - Stepwell

BUILT BUSES,L.

S

Page 88 06/08



C2 PARTS REFERENCE MANUAL
Themas

Interior
D6086XXXXX - Trim - Stepwell

BUILT BUSES,,'.

Sales / Data Item Ref.
Code Number Description Major Group
D6086XXXXX 1 Trim Angle - Stepwell, LS Interior

2 Trim Angle - Stepwell, RS

3 Stepwell Trim - Ribbed Nosing

4 Screw - Pan Head

5 Screw - Flat Head

6 Screw - Tapping

06/08 Page 89



C2 PARTS REFERENCE MANUAL

Interior
D6091XXXXX - Panel - Accessory Mounting,

®

Mmuu
&

Btk ElSE= R U SIEES

Safety Equipment

06/08

Page 90



C2 PARTS REFERENCE MANUAL
Themas

Interior
D6091XXXXX - Panel - Accessory Mounting,
Safety Equipment

BUILT BUSES,,'.

Sales / Data Item Ref.
Code Number Description Major Group
D6091XXXXX 1 Panel - Accessory, Front Overhead Interior

2 Screw - Truss Head

3 Brace - Accessory Panel

4 Screw - 1/4 - 20 x 5/8

5 Nut - Toothed Conical

06/08 Page 91



Themas

BUILT BUSES,L.

D6103XXXXX - Rail - Assist,
Front Entrance Door, Left Side

C2 PARTS REFERENCE MANUAL

Page 92

06/08



C2 PARTS REFERENCE MANUAL
Themas

Interior
D6103XXXXX - Rail - Assist,
Front Entrance Door, Left Side

BUILT BUSES,,'.

Sales / Data Item Ref.
Code Number Description Major Group
D6103XXXXX 1 Screw - Tapping, #14 x 1 1/2 Interior

2 Assist Rail Assembly

(Includes: Items # 3, 4, & 5)

3 Assist Rail

4 Clamp - Tube

5 Brace - Grab Rail to Seat Rail

6 Screw - Machine

7 Screw - Tappintg, #14

06/08 Page 93



C2 PARTS REFERENCE MANUAL

Interior
D6110XXXXX - Rail - Assist,
Front Entrance Door, Right Side

BUILT BUSES,L.

FRONT OF STEPWELL

. J j
TOP OF BOTTOM STEP— ’Bﬁ
| ﬂﬂgﬂ"’i .

Page 94 06/08



Themas

BUILT BUSES,,'.

C2 PARTS REFERENCE MANUAL

Interior
D6110XXXXX - Rail - Assist,
Front Entrance Door, Right Side

Sales / Data Item Ref.
Code Number Description Major Group
D6110XXXXX 1 Clamp - Tube Interior
2 Brace - Assist Rail
3 Assist Rail Assembly
(Includes: ltems # 1 & 2)
4 Screw - Oval Head
5 Rivet - 1/4 Dia.
06/08 Page 95



C2 PARTS REFERENCE MANUAL

Interior
D6118XXXXX - Cover - Stepwell Riser,
Right Side Entrance Door

Page 96 06/08



Themas

BUILT BUSES,,'.

C2 PARTS REFERENCE MANUAL

Interior
D6118XXXXX - Cover - Stepwell Riser,
Right Side Entrance Door

Sales / Data
Code

ltem Ref.
Number

Description

Major Group

D6118XXXXX

1

© 00 N oA~ WN

Not Shown:

Cover - Step Riser, 1st Step
Cover - Step Riser, 2nd Step
Cover - Step Riser, 3rd Step
Cover - Stepwell, Aft, W/ Heater
Cover - Stepwell, Forward
Grille - Stepwell Heater, Lower
Grille - Stepwell Heater, Upper
Screw - Tapping

Screw - Truss Head

Interior

06/08

Page 97



C2 PARTS REFERENCE MANUAL
Themas

Interior
D6126XXXXX - Prop Rod - Accessory Door,
Over Windshield
SEE DETAIL B

FRONT ACCESSORY
COMPARTMENT DOOR

INNER FRONT HEADER

DETAIL B

Page 98 06/08



C2 PARTS REFERENCE MANUAL
Themas

Interior
D6126XXXXX - Prop Rod - Accessory Door,
Over Windshield

Sales / Data Item Ref.
Code Number Description Major Group
D6126XXXXX 1 Door Bracket - Prop Rod Interior

2 Screw - Tapping, #10

3 Prop Rod - Access

06/08 Page 99



[14
<
3
=
o
<
14
]
=
2

RIGHT SIDE

e
i
= e . ,
T '9 T s

X0 ! e
i R

o

P ul - = /., ; AN ;;,,. I = O e [
. M \ ’./,a :

[}

Interior

D6138XXXXX - Floor Mat
Driver's Area

=
w
>
[m]
w
[a)
(o]
pu
g
>
i
[0}
2
o
<
w
4

A S
_‘ \WWA/LQ\\

S,
R

W e - 5
Sl

C2 PARTS REFERENCE MANUAL

TOEBOARD
VESTIBULE REAR FLOOR

®

Mmuu
&

Btk ElSE= R U SIEES

INNER A-PILLAR | i,
LEFTSIDE | % |

06/08

Page 100




C2 PARTS REFERENCE MANUAL
Themas

Interior
D6138XXXXX - Floor Mat
Driver's Area

BUILT BUSES,,'.

Sales / Data Iltem Ref.
Code Number Description Major Group
D6138XXXXX 1 Floor Mat - Toeboard Interior

2 Trim - Engine Cover

3 Screw - Tapping, Pan HD.

5 Foot Pad

6 Screw - Flat HD.

Not Shown:

Adhesive

06/08 Page 101



m C2 PARTS REFERENCE MANUAL

Interior
D6139XXXXX - Cover - Heater Hose,
Side Emergency Door

BUILT BUSES,L.

Page 102 06/08



C2 PARTS REFERENCE MANUAL
Themas

Interior
D6139XXXXX - Cover - Heater Hose,
Side Emergency Door

BUILT BUSES,,'.

Sales / Data Item Ref.
Code Number Description Major Group

D6139XXXXX Cover - Heater Hose, Rear Bulkhead Interior
Cover - Heater Hose, Front Bulkhead
Screw - Tapping, Truss HD.

Screw - Tapping, Pan HD.

Fitting - Bulkhead, Thru Floor, 1" ID Hose
Fitting - Bulkhead, Thru Floor, 1" ID Hose
ELBow - CURVED

NiPPLE - PLASTIC, 1.00" X 3.00" HEATER HOSE

0 N O O WN -

06/08 Page 103



C2 PARTS REFERENCE MANUAL
Ihomas

Interior
D6140XXXXX - Dash - End Caps /
Ductwork / Trim

BUILT BUSES,L.

Start Date 2/11/05

A-PILLAR

=7 25
\éé// A-PILLAR

DASH

Page 104 06/08



Themas

BUILT BUSES,,'.

C2 PARTS REFERENCE MANUAL

Interior
D6140XXXXX - Dash - End Caps /
Ductwork / Trim

Sales / Data ltem Ref.
Code Number Description Major Group
Start Date 2/11/05
D6140XXXXX 1 Duct Asm. - Defroster Interior
2 End Cap Asm. - Dash
3 Screw - Pan HD.
06/08 Page 105



C2 PARTS REFERENCE MANUAL
Themas

ShoiLrsusess, Interior
D6140XXXXX - Dash - End Caps /

Ductwork / Trim

End Date 2/11/05

A-PILLAR

A-PILLAR

DASH

Page 106 06/08



C2 PARTS REFERENCE MANUAL
Themas

Interior
D6140XXXXX - Dash - End Caps /
Ductwork / Trim

BUILT BUSES,,'.

Sales / Data Item Ref.
Code Number Description Major Group
End Date 2/11/05
D6140XXXXX 1 End Cap - Dash, RSr Interior
2 Screw - Pan HD.
3 Louver - Round, Defroster
4 Cap - Switch Cabinet, Black Nylon
5 Plug - Plastic, 3/4" Black
6 Fastener - 1/4" Nylon

06/08 Page 107



C2 PARTS REFERENCE MANUAL
Themas

BUILT BUSES,L.

This page intentionally left blank.

Page 108 06/08



	Cover Page-photo C2 Parts Manual ( Interior View ).pdf
	      INTRODUCTION 
	 




